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iv) What is worm?

v) What is MAC?

Paper / Subject Code: g2904 / Information

2olg (2Yz Hours)

N.B. l) All questions are compulsory.

2) Figures to the right indicate marks.
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3) Illustrations, in-depth answers and diagr-ams will be

4) Mixing of sub-questions is not allowed.

Q. 1 Attempt Ail(Each of StHarks)

(a) Multiple Choice euestion
i) Rail Fence Technique is an example of

a) Substitution

b) Transposition

c) Product cipher

(MD5.2.4,steganography.cryptanalysis)

which ofthe following is passive *t ulRelay attack b) Masquerade ,c)t1:l;afficanatrysis

IPsec services are available ir. Liyer. a) Application b) Data link c) Network d)
Transporl

Tc ', -;riD a" djgita] sigra_l,-r.a r.,,e llcEd th:-: t) !qi:,js;.s irivai : le;. b; S;acci .., i,;bii; ^.,y r)
Receiver's Private key d) Receiver,s pubiic ke,v

A polymorphic virus undergoes a) crossover b) Mutation c) Genetic processing d) None
of llrese.
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i) qttoob rely on,the nature of algoritr,n and generar characteristics ofplain

within a larger one.

text.
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private key cryptography rather being
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ii)Logic bomb

example.

of attacking a cipher.
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